Name: Date:

Teacher: Class:

Multiplication 409

Why did the cookie go to the doctor? Because he felt crumby.

Multiply these numbers.

L 7x9= 18 11x6= ¥ 3IxT=
2. 2x8= 19 10x8= 3% 8x9Q=
3. 1x8= 20. 2 xQ= 3. gx 8=
4 1x9= 21. 10x 6 = B 4x6=
5. Ax7 = 22. 11 x8= 39 12x6=
6. 2x@= 2. 5Ex6= 4 9gxp=
- 3x6= 24 11x7=__ = M 9x9=
8 Bx7= 2. 7T x7= 2. 9x 7=
9. Ax8= 26. 12 x9Q = 3. 3x9=
10. §x7 = 271. 7 x8= 4. 11 x9=
1. 12 x 7 = 28. 4 x9Q= o BxT7=
12. §x8= 29. 7 x6= % 6x6=
13. 3x8= 0. gx8= 4. 5 x8=
4. §xQ= 3. 10x7 = 48. 12 x8 =
15. 9 x 7 = 32. 1x7= 49 8x6=
16. §x 8= 38. 1x6= 0. 5x9=
17. 10 x 8 = 4. 10x9 =
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L 7x9=63
22 2x8=16
3 1x8=28

4 1x9=9

> 4x7=28
6. 2x6=12
. 3x6=18
8 B5x7=35
% 4x8= 32
0. 8x7=56
1. 12 x7 =84
128 x8 =64
13 3x8=24
14 6x9=54
15 2x7=14
16. 8 x 8 = 64
1710 x8 = 80

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Answer Key Date:

Teacher: Class:

Multiplication 409

Why did the cookie go to the doctor? Because he felt crumby.

Multiply these numbers.

11 x6 = 66 % 3x7=21
10 x8 =80 % 8x9=172
2x9=18 3. 9x8=172
10 x 6 = 60 8 4x6=24
11 x8 = 88 39 12x6=72
5x6=230 4. 9x6=054
11 x7=77 4. 9x9=281
7 x7 =49 2. 9 x7=63
12 x9 =108 43 3x9=27
7 x8 =56 4. 11 x9=99
4 x9= 36 6 x7=42
7x6=42 4. 6x6=236
6 x8=48 4. 5x8=40
10x7=70 48 12 x8=96
1x7=7 499 8x6=148
1x6=6 °0- 5 x 9 =45
10x9 =90
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